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TNPSC COMBINED STATISTICAL SUBORDINATE SERVICE IN
EXAMINATION - 11/01/2022

1. Who designed The National Flag of India?
a. Udaya Kumar Dharmalingam b. Venkata Subba Rao
c. Pingali Venkayya d. Rabindranath Tagore
e. Answer not known
AhgHwunalear Chdluis Gemeemwt LleTalheuaieuBnled WTT 6lgeuenLOSSHH!?
a. 2 Wl G HToedmISLD b. QeaumislL S&iugmell
c. Umsmel Geumienduim d. yUBAIETSH STt
e. alewL G fwalsdenev

2. Ayshman Bharat Scheme Govt. of India was launched on
a. 2017 b. 2018 c. 2019 d. 2020
e. Answer not known
OhHW s QuedoTer UTIH FHLHms 6BuTsh O mSwigH?
a. 2017 b. 2018 c. 2019 d. 2020
e. alewL O flwalsdenso

3. Which constitutional Amendment reduced the age of right to vote from 21
years to 18 years?
a. 52nd Constitutional Amendment
b. 615t Constitutional Amendment
c. 75t Constitutional Amendment
d. 86th Constitutional Amendment
e. Answer not known
abd SFweoemoliF FULGHHET Ly eaumdGfleno eauwend 21  llpbHaH 18
AUUSTE GHOBHSHH!?
a. 52 augl SdweoenoliyF FU L LD b. 61 eugl @dwevemiolid gL LIb
c. 75 augl SslweuemolilF FULID d. 86 auml SHwevenolIF &FLLID
e. alemL G flwaledenev

4. Article 200 explains about
a. Parliament entitled to legislate laws in State List
b. Governor reserves a Bill for the assent of the President
c. Power of the High Court Chief Judge
d. Power of the Speaker of Lok Sabha
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e. Answer not known

allg 200 alend ezl

a. THEV LI IQUIeTled LIMIT@EBHLOEIBID FU LD SuIBmIgHe0

b. &epBT  1WBFTHTM  GRWIFsES Hmevalflldl  QUUHIGBTE  MeuSHHih
OsIT6iT6IT6L

C. 2 Wi BIHIDAIDB HMEVMID BHHLIG DIFHSTILD

d. wésenemer FuT HTWGMET SIS HTTLD

e. alewL G Mwealsdensv

5. Amrita Bazar became an English language news paper in the year

a. 1868 b. 1872 c. 1878 d. 1881

e. Answer not known

SIDfHT uTTT uSHNEmas el SRS LSHHTSHmBUITOISHI.
a. 1868 b. 1872 c. 1878 d. 1881

e. alewL G fwalsdenev

6. In the 1937 election, Muslim league secured percentage of the total
Muslim votes.
a.3.5 b. 3.8 c.4.3 d. 4.8 e. Answer not known
1937-0 ouewih BCxiTHedlev (perelld 606 GUBMB  (Wervedd eUTEGHeMeT  OCLoTHSH
AUTHG FHATHID
a.3.5 b. 3.8 c.4.3 d. 4.8 e. alewL OFflwalevenev

7. Who is the Gnanaguru of Bharathiar
a. Thillagar b. Nivethitha c. Shelly d. Gandhi
e. Answer not known
UTTSWTT WTenJ SH6il @hTIG(HoUTS gBmId O\BmeutLmiT
a. Heosit b. PGaug T C. Gageve d. smhd
e. alewL O flwealsdenso

8. In Sangam Society the term “Ambanam” was used for
a. To measure the liquid b. To measure the paddy
c. Name of the village officer d. Military camp
e. Answer not known
FhIS BTV FAPHHH60 ‘DIDLGHID’ 61IB GFTeL 61emdH GHBIILSTH DIENLDSIEIBEI?
GTewTOlemTU 1 SleTenaldh GBS O\FTeL
OBeL SleeneumUl GHBILILIG
Symo pliteuTs FHlemmulet GLuwiT
. LUewL Blewevenu! @GMlS@LD O\FmeL
alewL  Gaflualsensv

T an o

9. Which among the following is the functions of Directorate of Public Health
and Preventive Medicine?
I. Prevention of Food Adulteration
II. Registration of Birth and Death
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10.

11.

12.

13.

14.

III. Immunization

IV. Promotion of Industrial Hygiene and Health

a. Il and IV only b. I and III only c. I, Il and IIT only
d.LIL IIl and IV e. Answer not known

Leitau(houeiauBmieT  QuUTEH &STHTY  OBBID  SHOUY WGBS  BUSEGHTSHHH 60
QFweoLITBH6T 61F)|?

L. ® _aueyd Sl HHLIL

II. dpiy wBp @sleomu uhe| GFUIeIS

III.  Gmmui s

IV. Qsmfleogiemns smuiend oBoid d&Hsrsmy Gubur
a. IIT @b IV w1 G b. I wid III 1o Gib
c. I IT wmpnd T 101" Bib d. L IL III wmpn IV
e. alemL G flualedensv

What will be the next term in BDF, CFI, DHL,... ?

a. CJM b. EIM c. EJO d. EMI

e. Answer not known

BDF, CFI, DHL, ....s16018 Qam_fled oibsHs o milin] wirg?

a.CJM b. EIM c. EJO d. EMI e. alewL QFflwaleveney

How many different towers of 4 blocks can be built using 2 red and 2 blue
blocks kept one over the other?

a. 4 b.2 c.8 d. 6 e. Answer not known

&m dFsly BB @M B SLLBISET  QHSIHAmer.  @AbhH BTG
S L MISM6NULD  @aIB&ICe0 QRAIBTE DIBGEBeTe0 eIHHewen alldh CHTLImIS6NT
SIMLDBHH6VTLD?

a. 4 b. 2 c.8 d.6 e. alenL Oxfwealsdemev

When a number is decreased by 25% it becomes 120. Find the number.

a. 180 b. 170 c. 160 d. 150 e. Answer not known

@  elewienlasr  wAIMU  25% GOBHHTeL 120 DL sHmH  olafled, DbSD
CTCUTENEMIS  SITEUTEb.

a. 180 b. 170 c. 160 d. 150 e. alenL Oxfwealsdemev

In a school of 1,400 students there are 420 girls. Find the percentage of boys
in the school?

a.30% b. 70% c. 50% d. 80% e. Answer not known

@ UueTefluled o effem 1400 wrewieuTHeriled, 420 GuiT oTewial&Hel, LeTerulled
® 6iTeNl LOTENIAUTHMET FHAIBHLD BHT6wIH.

a.30% b.70% c. 50% d. 80% e. alenL Oxfwalsoemev

Name the Nobel laureate present in the Five member Economic Advisory
Council (EAC) to Chief Minister of Tamil Nadu

a. Prof. Santha b. Prof. Esther Duflo c. Prof. Victoria

d. Prof. Shirley e. Answer not known
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SODS  (PHOMDEFFHHG — W|bH 2 _mudenseT  OsmewiL  GQUT(HEMTSHTY
Beurgemend Gpalsd (EAC) @Lib GQuBmieien Gprued ufle QubBeuT wimiT?

a. GugmAfwit ghaeT b. GuymAflwit eter0sT (. .[1G60T

c. Guymrdflwir alaGLmwm d. Gugrffwim GagTed

e. alewL G flwailsdenev

15. Rabindranath Tagore was awarded Noble Prize for literature in the year

a. 1903 b. 1907 c. 1911 d.1913

e. Answer not known

TUHAIBTS HTIn[hHEHEG BevdBWSHBHTer GhTusd Uflg auPmISLILL L SL6wH(H
a. 1903 b. 1907 c. 1911 d. 1913

e. alemL G flwalevenev

16. Mohenjadaro is situated in the district of

a. Punjab b. Larkhana c. Bavalpur d. Gujarat
e. Answer not known

QTHEhaHTEIT 6hd LOTaIL L SHH60 2 _6iTeng)?

a. UEhamLl b. et et C. LITGUGOLYT d. &xms
e. alewL G fwaisdenev

17. Which of the following anti-corruption bodies were established by

18.

Santhanam Committee recommendation?
1. Central Vigilance Commission
2. Central Bureau of Investigation
3. Lokpal and Lokayuktha
4. State Information Commission
a.1land 3 b.2 and 4 c.1and 2 d.3and 4

e. Answer not known
eitaupld  oa1psd  HBLUY — Sewwliyseied  FhHTeid G  ufibgienyuwimed
BIBIeULILIL L ened  WiTeneu?

1. wHFW o2aped HOBUIL SLENEOTULILD

2. SHHW ANFTTH6MT LENEUOTUILD

3. Geursumed wBMILD GeoTemuisST

4. 1DTH6V HBEUD SLEMEMTUILD

a. 1l Bpi 3 b.2 wBpi 4 c. 1 oBpd 2

C. 3 wmm 4 e. alemL G flwalevenev

Which of the following is not a measure to control inflation adopted by the
government (or) RBI?

a. Monetary Policy b. Fiscal Policy

c. Financial inclusion d. Price control

e. Answer not known

&6 Sy (HeTemeummled 6% SDIFFTRIGLD LOBBID MU URISILTED LINIaIssHMmH
Grruwne S BUUGSHID BLAIGSHMS E6066D

a. ueralwled OBHTeITeNd b. PHuwed QETeTens
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19.

20.

21.

22.

C. 2 GTeNM_&& HFHWID d. elemev &I HULTH
e. alewL G flwalsdenev

The Government of India announced a New Industrial policy on
a. July 24, 1991 b. July 24, 2001
c. August 24, 1991 d. August 24, 2001

e. Answer not known

BphaHw s yHw OFThed Osmetmdmwl DPSalsHs HTel
a. sgeemev 24, 1991 b. epenev 24, 2001
C. gmervl 24, 1991 d. symerdl. 24, 2001
e. alewL G flwailsdenev

“Call that a gift to needy men thou dost dispense,
All else is void of good, seeking for recompense.”
The meaning of “seeking for recompense” according to Thiruvalluvar is
a. To pity poor people
b. To follow virtuous path
c. To return the measured goods borrowed from neighbours
d. Feeling of greatness
e. Answer not known
aplwnitésrep FeuCs mFenslom GmBedsurd
GBOWHTUmL BT SHIeOL SHS.
As@pLutaled “@MlowiTienu” e HmeleTenalT 2 eIl
a. gMPHATLLD BIHsD OBMeTEHSH60
b. omend BLSHe0
C. ot @i LmTiL Semey GBGHSH eutmSw  QuIHemedh  HHbUS
O&T[HHH6L.
d. Qumenid QBTeiTEHHEO
e. alowL G flwalsensv

Who is the founder of “Koothupattarai Nadaga Iyakam”?

a. N. Muthusamy b. Indira Parthasarathy c. Sahul Hameed
d. M. Ramasamy e. Answer not known

S LmB BTLS BQUISSHMS 2 (HeUTHSWIeUT WITT?

a. b. (PSHHIFTL b. @b unTHHaTrH d. gnged amifa
d. qp. ®ymogmd e. alemL Oxfwealsdemev

Consider the following statement:

1. In Amrut scheme old cities are included for development

2. Tourist spot are included in Amrut scheme

3. All states capital are included in Amrut scheme

4. Water supply is not included in Amrut scheme

Among these, which are correct answer :

a.land3 b.2 and 3 c.1land2 d.3and 4
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23.

24.

25.

26.

e. Answer not known
LNeTaU(HLD Snlenm &6
. 9IS FHLLSHHe0 LPDOLHLD BHEIHIS6T CFTHELILL (HeiTeng
2. &MEIVTL UGSHH6T d[hg FHI L SHHev BFTebslil (heTensl
3. 61606V LOMHleLRIHEMNET HMEVBBTD BbPH FHI L SHH60 CFTHsLILIL HelTen).
4. BT QUPRIHD DIDHS HLLGHFH60 GaTehslILL alevenev
GuBev HewiLaumplled 618 Filwimen alenL

a. 1 By 3 b. 2 wBmb 3 c. 1 wmmid 2
d. 3 wBp 4 e. alenL Oz flwealsdensv
How many terms of the series 1+4+16+.... make the sum 13657
a.4 b.6 c.8 d. 16 e. Answer not known
1 +4 +16 + ... B QML HHmen 2 MILLHM6eNSH Fnl 19eTTe0 Fn(HH6e0
1365 SHlenL_sH@GHID?
a.4 b. 6 c.8 d. 16 e. el Oxfuwalsveneo

A group of letters are given A numerical code has been given to each letter.
These letters have to be unscrambled into a meaningful word. Find out the
code for the word so formed from the answers given

L 1 N C P E

1 2 3 4 b 6
a. 234156 b. 563421 c. 613524 d. 421356

e. Answer not known
SO e1pSHBIHeMeT OHTGLIL B OBTHHBUILIL (HeTendl. @eIGeUT(H 6I(DHHIHEGHD
HeodHHelCuw  erewr  GPUIG  eupmEISILL (BeTendl.  BHESTGUIL 61 SHSHIHM6T
BLDOLWTHS  LOTBBIWLEMLOSHSTEL  GLIT(HEHETET TTHMBH HMLHEGLD. DIHEILIG,
USHHTHDH HWIBLIQSHSH UTTHMBHBTE 6160 GHBUIBH6NS BHT6NISD.

L I N C P E

1 2 3 4 5 6
a. 234156 b. 563421 c. 613524 d. 421356

e. allewL  OFflwealedensv

An Alloy contains 26% of copper. What quantity of alloy is required to get
260 g of copper?

a.740 g b. 2060 g c.1000 g d. 10,000 g

e. Answer not known

a0 2 Gounsd Sevemal 26% STOTHMBE OCBTawiBetendl. 260 &. HTOTHMDBLI
Oup Cxhemeuwnar 2 GBeuTdd HeveneUUIET D66

a. 740 & b. 2060 & c. 1000 & d. 10,000 &

e. allew  OFfluwealedensv

Match the Rajiv Gandhi Khel Rathna Awardees with their respective games:
A. Shri Rohit Sharma 1. Para Athletics
B. Shri T. Mariappan 2. Table Tennis
C. Ms. Vinesh 3. Cricket
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27.

28.

29.

D. Ms. Manika Badra 4. Wrestling

A B C D
a. 3 1 2 4
b. 1 4 2 3
C. 3 1 4 2
d 4 3 2 1

e. Answer not known
gredell &Mha BHev FoHem alhal OCuBMeUTHMmeT SiauTHeMeT alenemuim (HL 6ot
QUTHSHHIS -
A. Fm. Crmandlg girom L. umgm SIHEVIEHED (HL SH6NLD)
B. &m. T. omfuwiiues 2. GLed GILeitenTlerd
C. Aaping) (Ms) alCearad 3. @fleb0sL
D. g (Ms) wreidst ursym 4. 1060UHS D
A B C D

a 3 1 2 4
b. 1 4 2 3
C. 3 1 4 2
d 4 3 2 1
e. allewL  OFflwealedensv

Under Maratha administration, the Panchayats were popularly called
Panch-Parmeshwar and the Panchas were often called as
a. Ma-Bap b. Kulkarni c. Potdar d. Kotwal

e. Answer not known

THHwisefer o FAulled vehFTwWHmSH UehF UFGLerLAIT 6T@IBILD  LiehdFTerd
6TEILIGUTHEM6T @LILIQUILD SIS BHTTEH6IT

a. Lom-LmLl b. Gevsitel C. UMLLIT

d. Garseured e. allewL G fuwailsdency

Who erected non-ruted Iron Pillar in the Qutb Minar complex at Mehrauli?
a. Samudra Gupta b. Kumara Gupta I c. Chandra Gupta II

d. Vishnu Gupta e. Answer not known

QamyTeduled GHINOITT UeMTHHHL 2 6o HIHLULNQHETH  E)(HLDLISHSHIT 660!
SIMLOSHSHUT  WITT?

a. FWPHHT SUST b. waeomd Gy GUST

C. @UeWILMD FhAT LSBT d. eleageam GLIST

e. alonL  OFMwalsdensy

Who is the Chairman of G.S.T. Council?

a. Home Minister b. Prime Minister c. President
d. Finance Minister e. Answer not known

@pawrnelear F7H@ B CFemeu eaufl Fewuulem SHemeveuT wimT?

a. 2_GIGIDB SIEVDFFT b. Wysior C. memgug)
d. ¥g oimwFsT e. el Gpfwalstency
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30.

31.

32.

33.

34.

Land Development Banks provide credit to farmers for

a. Short term needs b. Medium term needs c. Long term needs
d. Flood relief e. Answer not known

Blev elel aumid aleugTuilsEndE HL_GIIH6M6N  GULOHIGHH DS

a. emdwW &Tev BHema b. BBHHT HTev BHema

C. HewiL &Hmev BHemal d. Qeueiten Mleumyemiid

e. allewl  OFflwealedensv

“A crow will conquer owl in broad daylight;

The king that foes would crush, needs fitting time to fight’

What is the main idea of this Thirukural?

a. Importance of time b. Victory of crow c. Owl’s failure
d. Victory of kings e. Answer not known

“UB6L CEULRID FnenBMUISH HTHND @H6L  6l66LEVID

GoubaTe@ GeuewiBd QLTSI —

BHGHMeT 2 _MITHHID H[HHH WTHl?

a. BMVHFHT (PHBHUIGHSHIAID b. srémauien Geumns
C. Fmenaduien Bzmeval d. Gaubsitweler Geumns
e. allewL  OFfwealedensv

Rani bought 100 bananas at the rate of Rs. 320 and sold at the rate of Rs. 60
per dozen. Find the profit or loss percentage.

a. 56;% b. 87 % % .87 V4 % d. 56 V4 %

e. Answer not known

grenil 100 euTenPLILIPBIG6T R 320 &E UTHIBIT6T, DHMT @FH Lger I 60
& alIBMmTeT 66iled, DIHI SeuTUD (&]) BLLID FHAIHID HT6HISH.

a.562% b. 87 % % .87 14 % d. 56 V4 %

e. allewL  OFflwalsvensv

If additive inverse of a + b is a + b. Then what is the additive inverse of a?
a.a b. -b c.b d.a-b

e. Answer not known

atbear alLed erdmoemp a+ b erefled o 61 Gl 60 GIHTIOMB 6T65T6NT?

a.a b. -b c.b d.a-b e. alewL Oz Muwiaieoenev
Why the Neyveli Lignite Corporations was located at Neyveli?

a. Plenty of water b. Suitable climate

c. Availability of lignite d. Nearness to market

e. Answer not known

OBUWIGse) Ly Hevdsles swasHms g6l GBuIGaelulled HimielerT?

a. SMIeMoTs BT HewLsHGWw L LD b. QUTBSHSHLOTET HT6V [Hlen6V
C. uply Bevdssfl Bewl d@GLoL b d. shmnsdsE DHBTOLD
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35.

36.

37.

38.

39.

e. alowL  OFMwalsdensy

Ramu and Somu bought two tables for Rs. 750 and Rs. 900 respectively.
What is the ratio of the prices of tables bought by Somu and Ramu?

a.6:5 b.5:6 c.2:3 d.3:2

e. Answer not known

grp wBpid Camup aummidw B Guwamaseie alemev (WenpGw I 750 w@mmIb
900 eedle0 Gamuyp wHBEID gTA eumRGW Gwengseller alemevenu! al1&l5H5HH 60
FnBIcb.

a.6:5 b.5:6 c.2:3 d.3:2

e. allewl  OFflwealedensv

Find the smallest number which is exactly divisible by all the numbers from
1to 9.

a. 2510 b. 2520 c. 2530 d. 2540

e. Answer not known
1 mpbal 9 aumdFulleLTal SDIENISHEH 616WISH6NTID IEGUBLD LOSFFMBIULI  6TerTenemd
BHTCITS.

a. 2510 b. 2520 c. 2530 d. 2540
e. allewL  OFflwalsvensy

“In a domestic Government, unity and co-operation are essential requisites”
- is a comment passed by

a. Jawaharlal Nehru b. Mahatma Gandhi  c. Sardar Vallabhai Patel
d. Indira Gandhi e. Answer not known

“@T 2 6MBTLH DJFTRIGHHD @BBIMUID, @SHBHIMIPLILD  DISHSHWITEUFUILOTET
BT WEHLOWLITHeUB6NT — 61l aDTHSHSHI FnpluleuiT

a. MeIamTeuTed Gh(H b. warHwr &ih

C. STFHMT eusdeoLITUI LI GL 6D d. @pHym &1H

e. allewL  OFflwalsvensv

“The Big Thoughts of little LUV” - Book was written by

a. Gauri Khan b. Arundhati Roy c. Karan Johar
d. Vikas Khanna e. Answer not known

“g e 1l ot aJIlIged 6v6ll” 6B LSHHBHeNDH 6I(LDSUIGUT

a. Gsenfl et b. &mEHSHSH gl C. syenr GCggrami
d. elsmerd sewienim €. el G fuwialsveney

Victoria Memorial Hall at Calcutta was constructed during the regime of
a. Lord Ripon b. Lord Elgin c. Lord Curzon

d. Lord Hardinge e. Answer not known

H0BHFHTaleL 2 6o alHGLAMWT  GGomflwed ammed wrT S d  HTeVSH 60
S LU Lgl?

a. Mouer Yy b. erevegesr Ly c. &igar Ly

d. emmingeh LNy e. el Gpfwealsteney
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40.

41.

42.

Which one of the following is false with regard to the reign of Ahmad Shah?
A. He transferred his capital from Gulbarga to Bidar
B. The rivalry between the Dakhin Party and foreign party became
accentuated during his period
C. He conquered warrangal on 1424-25
D. He annexed the kingdom of Gujarat to his empire
a. (A) b. (B) and (C) c. (D) d. (A) and (B)
e. Answer not known
9IB0F agmaller L Fuled & @MU BeitemeuBmled 615 SHeummersl?
A. smeubsm] GeoUTHsTale0(hhaHl LILM(HHBE LommBnsleT.
B. ot smewsHdHed LobHer &b Geuefipm B sl b Guorsed UM
Cualiul (B aubSHSI.
C. 14242510 &L6mTged QUMIHIGBED 6163 S D »SLILBBLILLL S
D. omrs opms sar CuUITsiL el emendhdid ©smeusrLmiT
a. (A) b. (B) wpmib (C) c. (D) d. (A) wpmibd (B)
e. alewL  OFflwalsvensy

Which employment schemes is called as “Milestone” and hails it as the “best
known” employment guarantee scheme by UNDP and its Human
Development Report 2015.

a. The Integrated Rural Development Programme.

b. Mahatma Gandhi National Rural Employment Guarantee Scheme

c. Prime Minister Rozgar Yojana

d. The scheme of Training Rural youth for self-employment

e. Answer not known

abd Gouemev eumuIy HLID GHHHBU FHLBIG6MET D60 H60 61RO
ABFFBHH Gouemev eumuil] o mIFH HL LD eleiayd WMHHUW BTHH6T FenLiulledr
weflg Gubum’ (@ 2015810 auBLSHW Dfldmauied GUBIULIL L Heterng)?
RUHRIBMMIHS 261TH IeMTFHG HI LD

waTHT SMhFH CHdFlw emys Geuemeveumuili] o migh S LD

Myso whHM Ceusmeveuruiliy S LLb

SIToLB  DenenehTHEhHHTen dil Gouemeveuruiiy LulBd gL Lb

alewL G flwalsensv

© oo o

Which one of the following leader not related to Dindugal League?
I. Gopal Nayakkar
II. Manaparai Lakshmi Nayakkar
III.Deni Yadul Nayakkar
IV. Singam Chetty
a. Il only b. Il only c. Il and III only d. IV only
e. Answer not known
BB aUTH6M60 HewI(BHH6D Fnl L enOLIeHL FTFTHEUT UITT?
L. GHITLIT6L  [HTUIEBIT
II.  wewiLTeNB 60 &IO [HTUISHSHT
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43.

44.

45.

46.

III.  seal eged BHTUIGSST

IV. dmsb 01y

a. Il @B b. III o ®Bib c. IT wompud I ot Gib
d. IV o @i e. el Oxfuwalsveneo

The Tamil Nadu Industrial Guidance and Export Promotion Bureau was set
up by the Government of Tamil Nadu for

a. Financial assistance to industry b. For making industrial policy
c. For attracting investment proposals d. Assisting internal trade

e. Answer not known

_ 0pTG 0T eaupfsT (hHev oB@ID  gmming  Gubum (B LewiwsLD,
SODBTH DITFT60 DIENLDSBLILL LS.

CaTPlevsEhdHE BHiH 2 sal Gauiw

OaThe0 OBTeTMHMUI 2 (HEUTHS

WHESL (B S L RIS H6]T

. 2 GMBTLH aTHHIHH0 2 gal Gauiw

alenL g flualsensv

o a0 o

If the price of orid dhall after 20% increase is Rs. 96 per kg, find the original
price of orid dhall per kg.

a. Rs. 100 b. Rs. 80 c. Rs. 60 d. Rs. 50

e. Answer not known

20% eflemev o WieIBGHL a1 @b HBor o @pdsHd Lmlleas almew I 96
o6l DIHET SIF60 allen6v 6l6vT60T7

a. Rs. 100 b. Rs. 80 c. Rs. 60 d. Rs. 50

e. allewL  OFflwealedensv

Find the C.I. on Rs. 15,625 at 8% p.a. for 3 years compounded annually

a. Rs. 4,000 b. Rs. 4,028 c. Rs. 4,058 d. Rs. 4,050

e. Answer not known

R 15,625 5 WG a'ly 8% aipd ealed 3 YaihdeEhdGHS gl B el
STEmI6LD

a. Rs. 4,000 b. Rs. 4,028 c. Rs. 4,058 d. Rs. 4,050

e. allewL  OFflwealedensv

LCM of 35a2¢3b, 42a3cb? and 30ac?b3 is

a. 210a3c¢3b3 b. 7abc c. 216a2cb d. 441a3c3b?

e. Answer not known

35a2c3b, 42a3cb? wwmpid 30ac?b® Seumplent 8FFH@ Ourgk wLBEG  (15.6LUT.LD)
HTETS.

a. 210a3c3b3 b. 7abc c. 216a2c3b d. 441a3c3b?

e. alowL  OFMwalsdensv
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47.

48.

49.

50.

51.

52.

H.C.Fof (x +y)?, (y + 2)3, (z + x)*is

a.1 b.x+y+z c. (x +y+2)? d. (x + y)2(y + 2)3(z + x)*
e. Answer not known

(x+y)2 (y +2)3 (z+ x)* e 15.6LM.6u

a. 1 b.x+y+z c. (x +y+2z2)? d. (x + y)2(y + 2)3(z + x)*
e. allewl  OFHfluwialedensv

The scientific name of Asian elephant

a. Elephas axis b. Elephas radiata c. Elephas domesticus
d. Elephas maximus e. Answer not known

S wrenetulest Slaluled GLwT

a. 6160.".Ler0  gFlerd b. e16.".uerd Grig@uu L

C. 61V .16  GILMLD6EYDI BH6rD d. er69.".Lierd Giodenilioerd

e. allewL  OFflwealedensv

Who is the father of surgery in India?

a. Charka b. Sushruta c. Nagarjuna d. Vagbhatta
e. Answer not known

Sipienel FAHFmFUIET HHewd 6161 DIMPSSLILGL @HHUI LOHSHSHIGUT UImT?
a. gHsr b. sevmsST C. BTSMTE6IT

d. aususbsT e. allewL. G fuwalsdensy

The coronation ceremony of Shivaji was held in 1674 in the fort of
a. Raigarh b. Kondana c. Shivneri d. Redfort

e. Answer not known
Fourdulest (@@L B T 1674-b SiewiB Hewl Gubm CamenL

a. gt b. Gasmewt_meom c. HlouGmi

d. QFRGsm enL e. allewL G fuwalsbeney

Jyeshtha Ashtami is celebrated in which state?

a. Himachal Pradesh b. Bihar c. Kashmir
d. Rajasthan e. Answer not known

obF LOMHLHHe0 OWUIST SiadL L GeTei T LLBGSBE?

a. aflorggeo LIgGxhaid b. Sammi C. STOYJUST
d. gregerdgmest e. el O fuwialsvenev

The Drain Theory about poverty in India is associated with

a. Mahatma Gandhi b. Patel c. Nehru

d. Naoroji e. Answer not known

BhHw uBIemUled, augHTed CaHTum@G WTHLeT CHTLTL CleTeniL g

a. LSTHT HHS b. L GLebd c. Gmm
d. GmpenGyreg e. el Oxfuwalsvenev
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53.

54.

55.

56.

57.

SJSRY stands for

a. Shahari Jeewan Sudhar Rashtriya Yojana
b. Swarna Jayanti Shahri Rozgar Yojana

c. Sampoorna Jeewan Shahari Rozgar Yojana
d. Swarna Jeewan Shahri Rozgar Yojana

e. Answer not known

SJSRY -6t aifleurdaid

a. Shahari Jeewan Sudhar Rashtriya Yojana
b. Swarna Jayanti Shahri Rozgar Yojana

c. Sampoorna Jeewan Shahari Rozgar Yojana
d. Swarna Jeewan Shahri Rozgar Yojana

e. alowL G flwalsbensv

The main aim of self respect movement in TamilNadu was to

a. Abolish untouchability b. Encourage self respect marriages

c. Abolish Devadasi system d. All the above

e. Answer not known

SOIDHTL 1960 FWOTWTend BUuSEHH 6 (WpeHHul CoToHsLd

a. HWILTemLD L &HEH60 b. swioflwimeng Hmoemishmad 26dEal 60
C. Choumptdl (pemm eLIlHH60 d. GuoBamplul SIMHRIHHID

e. allewL  OFfwealedensv

Who implemented Poondi Drinking Water Reservoir?
a. Kamaraj b. Sathyamoorthy c. Rajagopalachari
d. Annadurai e. Answer not known

ety eIl $FH0 @b GYBTHCHSBHMS  SLBUSBBTAT  FILHMS
CawedLBSHSHWweuT wWmiT?

a. SIoyreg b. gHHw pTH c. @urgGsmumeongam
d. oewiemiTHIeN]T e. alenL  GaMuialsvemsv

Arikkamedu is located in

a. Tirunelveli b. Dindugal c. Pondicherry

d. Goa e. Answer not known

oIflss0h SimwhHeTen GL b

a. FHmOmevCaiel b. FHewihebse0 c. umentipF@a

d. Gasmeur e. alewL OQFflwalevenev

The third sangam at Madurai was founded by

a. [lamperuvazhuthi b. Mudathirumaran

c. Muthukkudumi Peruvazhuthi d. Nedunchezhiyan

e. Answer not known

CPIBTEUSH SHISGSHMS LOHIMTUTled HlmialuieuT

a. BenboLmeS) b. L s mommeit C. WaIHGBY OCLme
d. OmbHehOFwes e. alenL OFflwalsdensv
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58.

59.

60.

Match the following

City Popular in
A. Tirupur 1. Cloth market
B. Karur 2. Gate way of Tamil Nadu
C. Erode 3. International Leather Fair
D. Chennai 4. Knitting city
E. Thoothukudi 5. Home Textiles

A B C D E

a. 4 5 1 3 2

b. 3 4 2 1 5

C. 2 3 4 1 5

d. 1 2 3 5 4

e. Answer not known

QuUTHSHHIB
(BB RIGH6IT s GumBmpeney
A. Sy 1. gemlFsHms
B. semT 2. BOPBHBHeT HIPa] euTuiled
C. mGym( 3. gTauBss BxhTedL HewIsmL &
D. Qgeitener 4. LeTeoTevmenl  [hBIJLD
E. gnésissly 5. 9l ey efdern
A B C D E

a 4 5 1 3 2

b. 3 4 2 1 5

C. 2 3 4 1 5

d 1 2 3 5 4

e. alewL G fwailsdenev

The time taken for Rs. 4,400 to become Rs. 4,851 at 10% compounded half-
yearly is

a. 6 months b. 12 months c. 18 months d. 24 months
e. Answer not known

10% ouewi® eul lguied DIDFUITERIBHEGEH @ (OB QUL Igdh HeEWIGBL LI LT <.

4,400 oyl . 4,851 B LG ID.
a. 6 LDTHBIB6I b. 12 wrsmhisel C. 18 OTHmIH6IT
d. 24 wrgmise e. alemL Oxflwalsdenev

Sathish Kumar borrowed Rs. 52,000 from a money lender at a particular rate
of simple interest. After 4 years he paid Rs. 79,040 to settle his debt. At what
rate of interest he borrowed the money?

a.13% b.11% c.12% d. 10%
e. Answer not known
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61.

62.

63.

64.

FHa GMT el @ GUIUULL el aisshsHled @b 52,000 Heol eully
(wBulled &L euTmid, 4 SUeWIhEeT SWHH h. 79,040 HHwd sHLenerdF
CFISHFH ML SlauT auThISUW SLISGTW ' ly aiFHlD el6el6aueTey?

a. 13% b. 11% c.12% d. 10%

e. alewL G flwailsdenev

Learned concept reproduced without any change is called

a. Whole memory b. Perfect memory c. Rote memory
d. Long term memory e. Answer not known

SBB SHHHMWSH LOTHBBLOGLEVTION SHILILIYGUW H(HLLNS FBleud

a. (LP(LDEMLOITE  [BleneaTeUTBmeL b. gflwmer BenereurmBmed

C. DGILILITL  [HlenGTeUMBIB6D d. OBEHEBTED HeaTaTBB6L
e. alewL G fwalsdenev

The wings of the aeroplane was designed based on

a. Torricelli’s theorem b. Euler’s theorem

c. Bernoulli’s theorem d. Alembert’s theorem
e. Answer not known

aurer eamTHulear @méHend _ SlgliemLuled DIenLDSSLILIL (HeTT6n).
a. LnmflGgevel Cammid b. eyuieoT CxBmLD

C. QuTBearmel BGzmMID d. eevibum’ Gsmmid

e. alemL G flualedenen

How is the hot wind of Western India called?

a. Norwesters b. Loo c. Mountain breeze ~ d. Valley breeze

e. Answer not known

@hgHwmalar CuoBE UGHUled aisd Geuiud STBHI eeleTBnl HIPSHSLILIGSBSHI?
a. BrTeleuerol BL erd b. eum

C. LDEN6Y  HTBW] d. ueensaneE STBEI

e. alewL G fwailsdenev

Match List I with List Il and write the correct answer:

List I List II
A. Buddhamitra 1. Thirumandiram
B. Amitasagaranar 2. Kalingattuparani
C. Jayankondar 3. Virasoliyam
D. Thirumular 4. Yapparumgalam
A B C D
a 1 3 2 4
b. 2 3 4 1
C. 1 2 4 3
d 3 4 2 1
e. Answer not known
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65.

66.

67.

ucuwed - I s wluwed - II -2 L&t OQummpgdhd aflwmer udHemev e1bHHSDI
61(LDSHGLD:

U guieo | U guied 1T
A. ygz05AT L. SBWHSITD
B. eulitsgrsyerntt 2. &H60MIBHSHIILIT6uT
C. OxuImiOHBTeuTL T 3. aifGamPuid
D. #mewpso 4. WTlLHRISEVLD

A B C D

a. 1 3 2 4

b. 2 3 4 1

C. 1 2 4 3

d. 3 4 2 1

e. alemL G flualedenev

The Ghadar Party was formed by Lala Har Dayal in the year 1913 in

a. America b. Russia c. Japan d. Germany

e. Answer not known

ST & Fenwl 60meLT BT HWMeL 1913-60 6% BTLIQ60 OHTLMIF eUSHSHTT?
a. 96GfsaT b. yegum C. UILITGIT d. Oioe

e. alewL G fwaisdenev

Gurukula Ashram was run with the funds contributed by the congress party
for promoting national unity at
a. Serama Devi b. Kanchipuram c. Erode

d. Chengalpattu e. Answer not known

Cxrd @BBIMWLESHTS STHSHTOD S eldsd HH o salula Gufled GmEGHev
S FTIOD GFwedLIL L. L 1D

a. Gaywor BGzxal b. snehdyyid c. mGym®

d. QgmiseoLl B e. ol O fluelsdenso

The Jammu and Kashmir reorganization Act, 2019 is enacted for the purpose
of
i. Creation of Union Territory of Ladakh;
ii. Creation of Union Territory of Jammu and Kashmir;
iii. Bifurcation of the State of Jammu and Kashmir;
iv. Delimitation of Parliamentary Constituencies in Jammu and Kashmir;
a.ionly b. iii only c.iand ii only d. iv only
e. Answer not known
ID(LP-STARLET LOMI6U 6T UIENBF FLLID 2019 61bS CrTHaHHBHTH
BeBCeuBmLILIL L
(1) LT UGHow upellwer LCaaionss
(ii) oIp(p-BTadleny upelwer LyCsainds
(iii) DMUD(LP-BTAJST 1OTHlevSHend Byeni Tall 1Ifbs
(iv) oIp(p-sTabfleeTen  LUTITEHIOGIBS OHTGHHemen  10BI  FFeMIDUILF
Glauiw
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68.

69.

a.i L Bb b. iii oL B C.1 oBmub ii ol (BIb

d.iv wl @b e. alenL Oxfwealsdemev

Periyar Viyathulam Ilame;

Siriyorai igalthal athaninum Ilame;

What is the first line of this purananutru padal?
a. Yandu Palavaka Naraiyila Zaguthal

b. Thenkadal V alagam Podumai Indri

c. Yadum Ure; Yaavarum Kelir

d. ie yena irathal ilinthandru; Athan yethir

e. Answer not known

“EuiiCGwmeny alwHeed E606LD;

FBCwmeny DHIHL DIGHTNID evB”. — 6Tear
WPQujtd UBBTENBBIL LTLel6T (PHe0 iy 61%I?

a. wreni(h LevaUTs HTUTED L& &H60
b. OzeiaL 60 aleMmeld GUITSHIMID E6ins
C. wrgib o2m@r; wreurmb Gsmeri:
d. reenr Qrdsed QUHSED; DiBeT T
e. alowL G flwalsbensv
Match the following
City Industry
A. Tiruchirappalli 1. Chemical Production
B. Karur 2. SAIL
C. Salem 3. BHEL
D. Coimbatore 4. TNPL
E. Thoothukudi 5. Wet Grinder
A B C D E
a. 3 4 1 5 2
b. 3 5 4 2 1
C. 2 3 4 5 1
d. 3 4 2 5 1
e. Answer not known
QUT(HSHHISH:
H&JLD Camoled
A. FHmpsdymiueed 1. @ysmwen o MBuUSHI
B &emit 2. SAIL
C. Gzoeud 3. BHEL
D. Gamubuggmit 4. TNPL
E. ansgisslg 5. 1076 SIEMIHGD BWIbHTID
A B C D E
a. 3 4 1 5 2
b 3 5 4 2 1
C. 2 3 4 5 1
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70.

71.

72.

73.

74.

d. 3 4 2 5 1
e. alewL G flwalsdenev

The radius of spherical balloon increases from 12 cm to 16 cm as air being
pumped it. Find the ratio of the surface area of the balloons in the two cases.

a.9:16 b.9:14 c.9:13 d.9:15

e. Answer not known

R Gsmem algel UTeeL SMTHBBI 2 hHBULUGD GuTshl DIGHeT QP 12 GFw.6 -
ONmba 16 5.5 g5 2 wmHSBEH. S ypluglysellear &S ST s.
a.9:16 b.9:14 c.9:13 d.9:15

e. alewL G flwailsdenev

Find the compound interest for the principal Rs. 4,000 at rate of interest 5%
p-a. for 2 years, interest compounded annually.

a. Rs. 400 b. Rs. 441 c. Rs. 440 d. Rs. 410

e. Answer not known

oIF0 X 4,000 B wWiB aully aipd r=5% 60 YIBHEGH @[ (WPMB Gl lg
SMBHILLIULLTL 2 SLenihHeilled SHenLSH@GHD Fnl B Ul 19enuldh HTEwIH

a. Rs. 400 b. Rs. 441 c. Rs. 440 d. Rs. 410

e. alemL G flualedensv

The work done by the conservative force for a closed path is

a. always negative b. zero c. always positive d. not defined
e. Answer not known

el &mpsled iflaleveoT alengwimed Gauiwiiu’ L Gealenev LS LD.

a. eiIGUTIp&ID eTHTOENB b. &

c. eiIBurgIb GpBiToens d. eueywmIGsLILL ale0emev

e. alewL O flwealsdenso

Which one of the following is similar to earth with respect to size, mass and
average density?

a. Mercury b. Venus c. Mars d. Saturn

e. Answer not known

SpHHILuBBIeT Laldh@ gFwwTeal Slene], FITFf I THH 1OBBID Henmenwl
Oamemrheiten Gsmel LS LD.

a. UsHeT HJsld b. Qeueitefll &yesid C. Qgaleurul Hysid

d. gefl Syesbd e. alenL Oxfwealsdemev

Which one of the minerals is widely used in dying and printing?
a. Nickel b. Zinc c. Lead nitrate d. Manganese

e. Answer not known

LeiTeu(hHeueTaUBmIGT 6lhHdH Helold FTLCLBBIHED WBMILD HFFBSH6VI6L LFeUe0THLI
LIWIeTL(B SIS

a. MHébded b. s155BTHID C. Fwb enbL Gy
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75.

76.

77.

78.

d. wrmiseis e. alenL Oxflwalsvensv

stream disappear near Hanumangarh in Bikaner.
a. Vipasa b. Chambal c. Hakra d. Kosi
e. Answer not known
B Lsrelifled ameiosianTd 6B L HAMBEG DIHB6L LDmBHMBS.
a. elumam b. gmibued C. QBT d. Gandl
e. alewL G flwailsdenev

Which of the following is/are true regarding Directive principles of State

Policy?

i. Directive principles of state policy are enumerated in Part IV of the
Indian Constitution.

ii. Court can uphold the validity of a law on the ground that it was enacted
to give effect to a Directive principle of state policy.

a.ionly b. ii only c. Both i and ii d. All the above
e. Answer not known
BIDSH I DB BI6NT &SI (H QBSI(LPeNMmEH Gam_unHasel W)

QFTeLGLILIL_ L en6ausb@EhelT Filuimer gamml 61gl/ eleneu?

1. auflam @B  OpBlwesnd  GCaTiurhsel @b  SPFMWLLS  FLL Sl
BretsTDd LgHuied (Part IV) @piini i’ Gererng..

ii. aufsm B  Oppwenpd Camiurhseiear Wah SuBBLUUGL FLLKIGSm6N
BAHIOGBLD HH DIHBTTHHG (PO HTEVAMTUWIBIHS (LPIQULD.

a.i 1’ @b b.ii w G C.1 @b ii Byewi(Hid

d. GuBsmpPlu SienaTHSID e. alewL QFflwaledenev

According to Article 359

a. President has the power to suspend Fundamental Rights.

b. Governor has the power to remove Chief Minister.

c. Speaker of Lok Sabha has the power to dissolve Lok Sabha.

d. Prime Minister has the power to remove Vice-President.

e. Answer not known

allgl 359-a31 LI

a. GLWISS HmevalT gLl o flewwsemenr JoHH  OFUIWD  OIFHSTILD
CuBmeuT

SLEHHT (LPHEVMDFFN] HHGHLD DIHBTID GLBBEUT

D& BHETEN6N FUTBTWST LDSHHETENeUMUI HMEVSHGD DISHSTILD CuBmeuT
. UrswowhaHfl sienent @GQUITsid Hemevalem] bHGD DHSMID CLBBeUT
alewL s fluailsvensv

o oo o

In which two years Subash Chandra Bose was elected as the president of the
Indian National congress.

a. 1938 and 1939 b. 1940 and 1941 c. 1942 and 1943

d. 1944 and 1945 e. Answer not known
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79.

80.

81.

gutey ghaHy Gurmerd Emuweds @hHw CHrFw STRSTHEEG HMELUTTH
CaMHOSHHHBLILL L. &L6uT(HH6NT

a. 1938 wmmib 1939 b. 1940 wBmib 1941 C. 1942 wmmid 1943
d. 1944 woBpud 1945 e. alewL Oxflwalsvenev

Which of the following statements about the early years of the Indian
National Congress is NOT TRUE?

a. Indian National Congress was founded in 1885.

b. Promotion of national unity was its major objective.

c. It did discussed about social reforms.

d. It strived to create a common political platform.

e. Answer not known

BphaHwu Cxrdlw smmsFenier STbL &HTe0HMSL UBBlLl Laeumd gnBpiseied 615
gilwmensl Sieve0?

188560 @bl CHdw sTRISTed SHloURSILIL L S

Cxpdw QHEMWLLILITL ML aUeNTUILGI DiHeT (WoHHW GCleTeTamawT@GLD

oG FW T FHBHIuseT GBS alauTddssl

. DI R(H RHRIHMNHH DTFUIGD HEMD 2 (HeUTSHSLILTHLL L

alewL G flwailsvensv

o an o

Who is the kodaiyezhu vallal referred to in this Siru Paanaatrupadai verse?
“Muttathu kodutha munaivilangu thadakkai

Thuli mazahai pozhiyum vali thunju nedunkottu

Nalimalai Naadan .......... u

(Provider of necessary items it rains regularly high mountain country

a. Paari b. Kaari c. Nalli d. Aai

e. Answer not known

“WpLLrg 0aThdHd (penatalenmi@ Sl Hmdbd

glefioew Qumblub euefigiehd OCBGHIGCHTL (B

BOMLOEN6Y [BTL 60T ...

- @FFpureTBoIliuemL. UTL 60 eufldeafed @ DEUMID SHenLOQUILD 6u6iTeTeD WIMT?
a. umfl b. smf C. [beiter d. s

e. alewL G flwalsbenev

In which city of TamilNadu is the World’s biggest baggase based mill
situated?
a. Tirupur b. Karur c. Sivagasi d. Coimbatore

e. Answer not known

SO BTG  6hEH BIEIHHO o eudler sl Quilw  SHILUFFHMS
SlgliLmLuled &STHHH HWTMLIL BHBleueid o eiteng)?

a. Hmliy b. & c. Hlousnd] d. Gamuwibybami

e. alewL G flwailsenev

20[Page



82.

83.

84.

85.

86.

Which of the following pair is correctly matched?

a. Chennai - Auto component industries
b. Erode - Fire works

c. Sivakasi - Poultry farms

d. Madurai - Leather

e. Answer not known
SLpSHHEMILUBMBIGT 6lhd Bewewnt WS QUTHHSHUILIL (HeiTengl?

a. Oerenen - aurser o Hifl UTHEISET
b. #Gyn®m - LI L&

C. Jlousnd - GamPLl  L16u6T6m 6001 H6IT
d. wgleny - Gxmev

e. alemL G flwalevenev

Fill in the blanks :

If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in

days.

a.5 b. 6 c. 50 d. 10

e. Answer not known

BITLIL|e

5 muTHeT 5 Geumevdemern 5 HIelHeiled Gaulgh (PQULIT eeled, 50 BUTSH6T 50
Gouemevdmene BT Heifled GFUISH (LPIQLILIT.

a.5 b. 6 c. 50 d. 10

e. alewL Gy flwaisdenev

The base of the parallelogram is thrice its height, if the area is 192 sq.cm,
find the base.
a.8 cm b.24 cm c.20 cm d. 34 cm

e. Answer not known

RT BB ISHH  DlILUSFHLOTHIH — DiHeT 2 wWFsHmHl  Gumeo  cpeaisl
WLRISTHAD DIGH&T LJllene] 192 0515 gsad SopUUsT SIQlLSsHmS
HITCIT .

a.8 Q.5 b. 24 Qs.15. c. 20 Q&.f d. 34 Q.5

e. alemL G flwalevenev

In Tamil Nadu, the heavy water projects is located at

a. Narimanam b. Kalpakkam c. Kayathar d. Tuticorin
e. Answer not known

SO BTLIgEL &6 BT HLLID SewophHleTen @ Lb DG LD.

a. wifewrd b. seouTHHID C. BWSHHTH d. anssissig

e. alemL G flwaledenev

Which charge configuration produces a uniform electric field?

a. Point charge b. Uniformly charged infinite line

c. Uniformly charged infinite plane d. Uniformly charged spherical shell
e. Answer not known
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87.

88.

89.

90.

ob® LIGIEITL L Hleneowlenlolil] FImen LOeLeuHmS 2 (HeUTdh@GLD?
a. Yeiell 1Oleitamml L LD

b. &ymen Weitenm’ Lib QUBB (pigaieor &bl

C. Fymenr WM LD GuBm (pelleom FLOSH6NLD

d. Fymer et Lib QubBp Csmendd gl

e. alemL G flwalevensv

The original language of India is said precede Dravidian language is known
as

a. Thai language b. Kulerian language c. Chinese language
d. Bengali e. Answer not known

@phaHw Gomh CammmsHglev Hymall Gmfhiseflsd (wWhaHlw GComg

a. smul Gom b. G&rGeufuwie Giomp c. emgaferd Gom
C. GQumsmted Giomgl e. alewL G fwalsdenev

India is a member of the Universal Postal Union since
a. 1866 b. 1876 c. 1886 d. 1896

e. Answer not known

BhHWT, 2 05 Demaled HUTEO ML  6ICUTHHHSH o mIiilemTs
® 6iTeNg)

a. 1866 b. 1876 c. 1886 d. 1896

e. alewL G fwaisdenew

The Central Bureau of Investigation (CBI) was created in

a. April 1953 b. April 1963  c. April 1973 d. April 1969

e. Answer not known

HHW Yevenimuley GFwievsd eriOUTIRE gBUBGSHSLILL L HI?

a. glged 1953 b. griged 1963 c. glgev 1973 d. guged 1969
e. alewL O flwealsdenso

Assertion (A) : The Council of states is considered as a permanent House of
the Parliament.
Reason (R) :The Members of the Council of states are representative of the
states; not the people.
a. (A) is false but (R) is true
b. (A) is true but (R) is false
c. Both (A) and (R) are true and (R) is the correct explanation of (A)
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)
e. Answer not known
By (A) : @bHw UTITEHOSIBHH ST HIHHTF FEOLIUITS DB 6VBIHETEN6
SHSUILGHBEI.
amyenid (R) : omHlevmiseneney o pinieniaen wrbleomiseaien LIFHmlgsenTs
BAHEBIMITH6N, dhHeMer LFHHHHenTs Sl6060.
a. (A) sam speme0 (R) o awienio
b. (A) 2_awenip gemmed (R) seum
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91.

92.

93.

94.

c. (A) wppid (R) @yewiGid o ewienio, oBpid (R) ereiug (A)-elBarer gfuimet
allendaLD

d. (A) wppd (R) yewiGio o eavieno, syemmed (R) ereiiig (A)-eiBasmer afuimer
a6 BHLD6L6V

e. alewL G flwailsdenev

The Royal Indian Navy Mutiny brokeout on 18-23 February 1946 at
a. Bengal b. Bombay c. Cochin d. Madras
e. Answer not known

Migeufl -60 CaupbHw @bHFHw SLBUML H6VHLD BLSHSLILILL L LD

a. GUBISBITEILD b. wbumul c. Carsdlen d. wgymerd
e. alewL G flwalsdenev

‘Al Hilal’, a weekly Urdu Journal was started by
a. Maulana Abul Kalam b. Mohammed Ali Jinnah
c. Sir Syed Ahmed Khan d. Yusuf Ali Khan

e. Answer not known

‘Al Hilal’ e1ei3 eumgmipdly 2 ma usFHfbensenus QL misslueuT wimr?
a. OIDETELTEIT SILIGD HEVITLD b. wawal 60 oJebrenT

C. T WS DIBLOG ST d. wa 960 e

e. alewL G fwalsdenev

“Found the skill of hands there and the power of foot here” - The meaning
of this line in “‘Kambaramayanam’.

Breaking of Bow by Raman

Liberating Agaligai from curse

Killing of Thadagai

Victory over Ravanan

a. 1 only b.1, 2 only c.2,4 only d.1,2,3 only

e. Answer not known

“md  oUTeNID  OIMIG HeIGL6T BTV  eUewIewID @WIG HewIGLET  6T6iIm
SUFTOTWeRIL LUTLed eufl @ ewiiTha b QFuIg eresrent?

1. @ymoer alleb0l6vmy&HHSH

2. oalmad gmu alGwrgeaid GUBBEI

3. FHTLmSMW auHD LMHSHH

4. @ymeucwnienel GleUTBS

a. 1w @Bw b.1, 2 o @B c. 2,4 B d. 1,2, 3wl @w

e. alewL G fwalsbenev

“Kallathin Utchum Suramenbar Kadalar

Ullam Padarntha Neri” - These lines are from

a. Kalavazhi Narpathu b. Thirukkural
c. Aynthinai Aymbathu d. Kar Narpathu
e. Answer not known

‘BOMNGHHGT 2MFHID HTOLDIILIT HTHEOT —
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95.

96.

97.

98.

® oo ULMHS GEY — umed eufl @b CUBBG
a. semeld HIBUS b. Fmab@mer
C. mMbFHenewl MIDLIG) d. s pIBUG
e. alewL Gz flwailsbenev

is the welfare body which is working for the holistic empowerment
of women in cutting across all the sectors.
a. State Resource Centre for Women
b. State Commission for Women
c. One Stop Crisis Centre
d. State Organisation for Women

e. Answer not known

SmaIHEH S Guenisefer (pupewwwrer GuburligBars usmll OFWILD  Hev
SIemIDLIL]

a. mBev QUENTIHET aI6T EMLDUILD b. wrhlev &6efiT GLemewTUID

C. QPUHHM6V OH(HHHY EMLOUILD d. wnmbev OUETBIBET FhIGLD

e. alewL G fwalsdenev

Who is the Father of Indian Renaissance?

a. Raja Ram Mohan Roy b. David Hare

c. Ishwar Chandra Vidyasagar d. Rabindra Nath Tagore
e. Answer not known

@bhFHw wpIoeoTFFuller Hheng WTT?

a. grm gmb Gomsedr [wUl b. GLaill amGy

C. FOReUT FhHA elSHWTFTHT d. nibAr B1H HTgnT

e. alewL G fwaisdenev

In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum?
2 b. 4 4z d.31
a. 2 years .4 years c. 47 years - 33 years
e. Answer not known
h. 5,600 & 6% aullg aiFHID e1HHmen SpemiBhHefed h. 6,720 HenHGHID?
a. 2 oL HBH6N b. 4 sy eiBeelt C. 4§ T CETL
d. 3§ ST BBH6NT e. alewL QFHflwalevenev

A sum of money is to be distributed among A, B, C, D in the proportion of
5:2:4:3.1f C gets Rs. 1,000 more than D. What is B’s share?

a. Rs. 1,000 b. Rs. 3,000 c. Rs. 2,000 d. 4,000

e. Answer not known

A, B, C, D eaueamss @m SOIUILL Ozmemsemul 5:2:4: 3 aam aldssdled
LB BHampent. BFev C e D o ol . 1,000 o8sd QuUBISBTT 6T6fled
B &1 umig eletieor?

a. Rs. 1,000 b. Rs. 3,000 c. Rs. 2,000 d. 4,000

e. alemL G flwalevenev
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99.

100.

How many ways can you answer five TRUE or FALSE questions?
a. 10 b.5 c.25 d. 32

e. Answer not known

glwm? seupr? gpmis eler 5 CoellalseT QmebFIBar. Qhs 5 CoeralseEnsh@d
QTHBHIOTH 61HHmeT AIHLOT6T LIFH60H6T HI(LPIQULD?

a. 10 b.5 c.25 d. 32

e. alemL G flwalevenev

210 men working 12 hours a day can finish a job in 18 days. How many men
are required to finish the same job in 20 days working 14 hours a day?

a. 160 b. 162 c. 164 d. 169

e. Answer not known

210 syewimen HTOeMTEIBIGE 12 wewll Gy Geauemev GFUIH @H Cauemevenws 18
Bredefed (pliLiT. £I8% Geuemevenw BTOeMTeIBISG 14 wewll GByb  GCousmev
Cauigl 20 BT ®6eMed (PIYHED 6THHEMT DLTH6T CHene

a. 160 b. 162 c. 164 d. 169

e. alemL G flualedensv
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